H & 0l & AHS B Ml A

A LIS
B LoI=T| o)
&l LolNE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Cel=X 102,428,257 103,461,441 1,033,184
= 15,535,719
[ 4,734,795
= 20,565,292
Al 61,592,451
LIS == 102,340,672 103,359,329 /1,018,657
= 16,520,684
[ 4,734,795
= 20,563,037
Al 61,522,156
eINE 2 71,588,373 61,736,569 9,821,804
= 3,967,200
= 4,734,79%
= 17,862,581
Al 44,993,797
LRIEXE SANL Ex2RE 79,800 79,200 600
== 7,980
Al 71,820
301 22N = 79,800 79,200 600
[ 7,980
Al 71,820
02 MBI 2HEHSFHS(HAANS, XLHE) 79,800 79,200 600
OLQ=RZ BAL E222E
79,800,000 79,800
= 7,980
Al 71,820
col=sAzEd 2,716,880 2,856,880 140,000
s 171,000
Al 2,545,880
201 et 3| 200,000 200,000
01 At2t2l] 200,000 200,000
OLELASNSEE2 &= Btdd A
= 200,000,000 200,000
307 elztol & 2,516,880 2,531,880 A15,000
= 171,000
Al 2,345,880
05 2I2tRIE =S 2,516,880 2,531,880 15,000
ORFANJ0| oIS 2
570,000,000 570,000
=S 57,000
Al 513,000
OSRHAIZDI ==X (AIHIFIH
268,960,000 268,960




SA: wol= X
HM: LoI=T] £
&l LolNE 29 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ORHALANC-QI= X2
570,000,0002 570,000
< 57,000
Al 513,000
OSHAIAALC OIS T ZH(AIEIZEI)
268,960,0002 268,960
ORHARF-I=T 2
570,000,0002 570,000
< 57,000
Al 513,000
ORFALE LIS Z(AIEIFI
268,960,0002! 268,960
LOIZ TR BAK MMM 30,600 30,600 0
[ 30,600
301 YBHENZ 30,600 30,600 0
< 30,600
02 ABIBERLGIS(FHLHS, NLUR) 30,600 30,600 0
OLoI=X2t ALK M IHAH
50,0002 #5124+ 12& 30,600
< 30,600
LOII=XIAIE X 6,000 10,800 4,800
307 212t0| 6,000 10,800 4,800
10 MBISTANEEYRHHIEX 6,000 10,800 4,800
ORIE-=TAIE XL
1,500,000 %474 2 6,000
MAZO( QI QAAIA) 4,408,000 3,600,000 808,000
= 3,967,200
< 308,560
Al 132,240
301 LBtENZ 4,408,000 3,600,000 808,000
= 3,967,200
[ 308,560
Al 132,240
01 ABI2ZELHS(ZDEEZTE) 4,408,000 3,600,000 808,000
O ZHESE MASH(LUQAAIL)
4,408,000,0002 4,408,000
= 3,967,200
[ 308,560
Al 132,240
QI X 9,297 7,09 2,201
201 LEHRAY| 9,297 7,09 2,201
01 Al 2el] 9,000 6,700 2,300
SHA QYT 2 XH MAARE &
Mg 150,0002 *5% * 123 9,000
e SB2%H| 297 3% A




A LIS
B LoI=T| o)
&l LolNE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oI 2l 38 FUHE AIE=
297,000& 297
Mot CISXIAIE 29 743,250 750,000 A\6,750
= 75,000
Al 668,250
307 @12t0| & 743,250 750,000 26,750
== 75,000
Al 668,250
10 Al2ISTIAIEEE 22X 743,250 750,000 26,750
OMIH=QI=TIAE 2Y
743,250,000 743,250
= 75,000
Al 668,250
COQAAEBALN SEx22EH S 169,880 167,952 1,928
= 15,988
Al 143,892
301 EetE NS 125,280 115,680 9,600
== 12,528
Al 112,752
02 ARSI E2E A S(FANS, XLETHE) 125,280 115,680 9,600
LOIQAAIE BAKL Ex222Y
125,280,000 125,280
< 12,528
Al 112,752
307 elzto| & 34,600 42,272 AT ,672
= 3,460
Al 31,140
10 AlRISXAZEE 22X 34,600 42,272 NT,672
LoIRSAE =2 K 2Foa8l X2
34,600,000 34,600
< 3,460
Al 31,140
LoIEIIRY Mots 27,805,258 24,160,967 3,704,291
= 2,786,526
Al 25,078,732
301 EtE N = 27,865,258 24,160,967 3,704,291
= 2,786,526
Al 25,078,732
02 A EEHS(FIANE, XLTHE) 27,805,258 24,160,967 3,704,291
OLEIRE Mots
27,865,258,000& 27,805,258
== 2,786,526
Al 25,078,732
LAY AIESH 28,074,462 22,093,706 5,980,756




A LIS
B LoI=T| o)
&l LolNE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 14,037,231
Al 14,037,231
301 EtE NS 28,074,462 22,093,706 5,980,756
= 14,037,231
Al 14,037,231
02 ARSI X LGS (FHAAHS, NSWE) 28,074,462 22,093,706 5,980,756
OLOIEIIRY AlZSO
28,074,462,000& 28,074,462
=S 14,037,231
Al 14,037,231
MoK B MBI AME SAEG M<IHAHI 10,200 10,200 0
< 10,200
301 EtE NS 10,200 10,200 0
=S 10,200
02 MBI 2HHSFHS(HAANS, XLHE) 10,200 10,200 0
OMII- XM AHE SAK ML S
af 50,0003 x17H*12& 10,200
= 10,200
COIFESSAMHIAAY X 6,616,905 6,871,997 A255,092
= 4,575,340
== 294,129
Al 1,747,436
307 212+01& 6,616,905 6,871,997 A255,002
= 4,575,340
= 294,129
Al 1,747,436
1 AMISXAIEEX 6,616,905 6,871,997 A255,092
OLQIUESSALIAAY X2
6,336, 764,000 6,336,764
[ 4,575,340
= 294,129
Al 1,467,295
OLoIXFZSESMUIAAY XI& (AIHIZFI})
280, 140,360 280,141
SN SSUHHMAMEIA AFE X 329,594 318,084 11,510
= 159,455
Al 170,139
307 elztol & 329,594 318,084 11,510
= 159,455
Al 170,139
1 AMISXAEEXS 329,594 318,084 11,510
OSSN SSHMAAEIA AFE XA
307,400,000 307,400
[ 159,455




2A:

o=y

=

Hu: o= L8
I 2

=9l =elAd EER-E)
M- B SRASH) - HRAR - B2 of v e HIDE2
Al 147,945
OSHw0l STOHTIAMEIA ALK (A
HIZ=0H) 22,194,000 22,194
SHHeIAMAHIA 2UIEHE XI& 41,496 41,503 AT
= 35,947
Al 5,549
307 elztol & 41,49%6 41,503 a4
= 35,947
Al 5,549
11 AMEISXAIEEXS 41,496 41,503 AT
OSTOEOAAHIA BLEZ X8
35,947,000 35,947
== 356,947
OSTOoAMHIA BUEZ X8 (AL
o) 5,549,0002 5,549
ol Xte] OISAIE SAHL S22+ 16,200 15,000 1,200
< 1,620
Al 14,580
301 LELEE S 16,200 15,000 1,200
& 1,620
Al 14,580
02 A2 EH 2GS (FHAAHS, W) 16,200 15,000 1,200
O=olgR2l OIBAIE BAR S4224Y
150,0002 0«12 16,200
= 1,620
Al 14,580
SO Re| =812 SAEL ML 34,200 34,800 2600
== 34,200
301 EtE N = 34,200 34,800 2600
= 34,200
02 AL 2EH LGS (HAAS, W) 34,200 34,800 2600
OLoledXie] +=&J|2 SAHL XM <IH&H]
50,0002 57 H*12& 34,200
= 34,200
COISPEESMHIAAY SAL XMRIHEHI 12,600 12,600 0
< 12,600
301 EetE2 N = 12,600 12,600 0
=S 12,600
02 A2 EH 2GS (FHAAHS, W) 12,600 12,600 0
OLI¥ESSAHIA SAEL M2ME8|
50,0002 *21H 122 12,600
= 12,600
SUHHEMHIA ALY SAEL M IH&H] 3,000 2,800 200
= 3,000




A LIS
B LoI=T| o)
=l LoAE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 3,000 2,800 200
= 3,000
02 ANRI2HHSFS(HAAS, NLHE) 3,000 2,800 200
OSS U AHIA SAHG MR
50,000 x5& * 122 3,000
< 3,000
COIXEAMY 29 1,920 2,400 A480
201 et 3| 1,920 2,400 A480
01 At22t2l] 1,920 2,400 A480
Oolgte] & XESSAEIA A X2
1,920,000& 1,920
AL XNZNE 2 327,231 337,123 29,892
307 elzto| & 327,231 337,123 29,892
05 212t =S 327,231 337,123 N9,892
OFIIQYLAXNAMME 2
327,231,000& 327,231
LoISEXE ANE datdz X3 51,600 60,000 A8,400
== 18,000
Al 33,600
307 212+01& 51,600 60,000 28,400
[ 18,000
Al 33,600
10 AlRISTIAIEEE 22X 51,600 60,000 /8,400
COIST2ANE datde XS
51,600,000& 51,600
= 18,000
Al 33,600
ANSAEE O=d SMES A 20,000 20,000 0
s 20,000
307 elztol & 20,000 20,000 0
= 20,000
11 AMRISXAEEES 20,000 20,000 0
OXNSXES 024 SMES MY
20,000,000 *10H 2~ 20,000
= 20,000
Lol s X 5,185,302 5,140,039 15,263
= 1,410,714
= 548,758
Al 3,195,830
el NgExs X 54,300 54,400 A100
307 @120l & 54,300 54,400 A100
02 QB AANEER 54,300 54,400 A100
okl NgExzs X 54,300,000 54,300
JzdEsg ol ASHY| 1,350,000 1,290,000 60,000




A LIS
B o= o)
eelr Lo ootEs N3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 405,000
Al 945,000
301 EtE NS 1,350,000 1,290,000 60,000
= 405,000
Al 945,000
02 ARSI X LGS (FHAAHS, NSWE) 1,350,000 1,290,000 60,000
OIIZMES2 L0l BSLI
1,350,000,000& 1,350,000
=S 405,000
Al 945,000
22 A& 309,015 1,129,825 820,810
201 2= 130,640 174,575 N\43,935
01 At22t2ltl 75,080 113,505 N\38,425
AXH=E AT (ZA) 65,280
—&g 990,000& 122 11,880
—sS=x0t= 1,000,0002 * 12& 12,000
—a0l 1,000,000~ 128 12,000
— A= 200,000 * 122 2,400
- 100,000& ~12& 1,200
—oi&= 500,000 x 122 6,000
—&el 500,000 * 12 6,000
—=0ot 400,000 123 4,800
—50 750,000 122 9,000
ORI AR +48
3,200,000 3,200
Odzg S3A2ANAE FX2cl]
6,600,000 6,600
02 35244l 55,560 61,070 25,510
OZ=2¢ Al | 2l 52,940
—&D|EHI LM A
64,0002 * 16074 A 10,240
—dgAld RX2el
18,000,000 18,000
—&3X A 60,0002 8504 A 5,100
—gAAS R
16,0002 #3757 A +23] 12,000
—d2d sga2 Acl=AH 2
7,600,000 7,600
OL=IAE SaXE || 2,620
— NS XAl 110,000 2CH 220
—28= 600,000 2CH 1,200
—SXbl(=2l 8) 600,000 *2CH 1,200
307 @20l & 138,375 271,350 A132,975
1 AMISXAIEEX 138,375 271,350 A132,975




A LIS
B o= o)
eelr Lo ootEs N3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ2E UW1d & XA(BA8) 138,375
—&=gt 57,0002 #3750 2= +63 128,250
— Sl g 4,500 *375 04 2462 10,125
402 2I2E X201 & 40,000 236,100 196,100
01 IR SASE X (XHMITHR) 40,000 236,100 196,100
OB2Y ADENS 223
40,000,000 40,000
F2E ¢ - 2l 2 =4 XA 814,285 726,734 87,551
= 430,714
< 129,214
Al 254,357
307 glztol & 814,285 726,734 87,551
= 430,714
s 129,214
Al 254,357
11 AMRISXAEEES 814,285 726,734 87,551
OFREY W - Uyl ¥ 22y
814,285,000 814,285
= 430,714
=S 129,214
Al 254,357
d2E 243 A 174,360 174,120 240
< 7,436
Al 166,924
307 lztol & 174,360 174,120 240
= 7,436
Al 166,924
11 AMEISXAIEEXS 174,360 174,120 240
OZ=¢g gdat At 74,360,000& 74,360
= 7,436
Al 66,924
OZ2Y AlMEIHd T2 3
100,000,000 100,000
LolEd & XI# 795,238 1,356,800 A561,562
201 er23 | 5,820 4,900 920
01 At2teltl 5,820 4,900 920
O=IDI=2842ARs B4
320,000 320
Oololg (L SXSA) B2 41 Xl
= 220,000& 253 5,500
203 gF=4| 10,290 9,380 910
03 A=A 2= 10,290 9,380 910
OeI=il = 10,290,000 10,290
307 elztol & 779,128 1,183,320 AN404,192




A LIS
B o= o)
SRl o optEs X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 779,128 1,183,320 N404,192
OLQl3X3] 2aHI(2H] & XIg& &8
bl) 246,147
—XNalE 1,000,000& «3& 122 36,000
—=& 2,495,460 «38 « 122 89,837
—& 2,495,460 «38 « 12 89,837
—40 282 15,500,000 16,500
—EXNE=s 14,973,000& 14,973
OZ2Y =3 Z2 08 22X XI| (2]
% 2SHl) 162,665
—QI24H| 2,495,460 «4B 12 119,783
—234l 200,0003 x4 x 123 9,600
—40 288 13,300,000 13,300
—EXNE=s 9,982,000& 9,982
OXSGSAN =& &4l K&
70,0002 *x365E « 12 306,600
OZ=z¢g 2IHY, A0ILI0l AIESZE 73,716
—gIZHIA 12,5003 x326 4 -+ 123 48,900
—KT 22,0003 %9404 2=+ 123 24,816
Eaelps - P SONE-! 12,240 102,150 /89,910
307 212+01& 12,240 102,150 /89,910
02 LB HANHEE 12,240 80,550 268,310
Okl & &AL XIH 12,240,000 12,240
ot A 293 7,222 9,028 21,806
201 Ler23| 7,222 9,028 21,806
01 At2teltl 1,200 1,800 A600
oxg2d 425 § 7Y
1,200,000& 1,200
02 S3=2gl 6,022 7,228 A1,206
OX& =l 6,022,000 6,022
Agl =201 2te|(LI=XIAE) 129,360 151,200 A\21,840
301 2eEN= 129,360 161,200 A\21,840
0 AR=S224= 129,360 151,200 A21,840
OLQ=TAIE A=223 SAHI
7,000 <77 *202 * 122 129,360
LoI=EIE B8 21,042 24,882 23,840
= 7,108
Al 13,934
307 @20l & 21,042 24,882 A3,840
=S 7,108
Al 13,934
11 ARRIS XA E X 21,042 24,882 23,840
LoISINZ 28 21,042,000 21,042
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A LIS
B o= o)
eelr Lo ootEs N3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 7,108
Al 13,934
ANtEEZE 29 88,240 118,100 A29,860
201 er2 3| 59,080 79,400 20,320
01 AtR2te|Hl 31,080 44,400 213,320
OAlIEdzE 29 XN&
31,080,000 31,080
02 s3=gHl 28,000 35,000 A7,000
OADIERRS AlAE STE4t]
28,000,000 28,000
307 glztol & 29,160 38,700 29,540
11 AMEISXAEEXS 29,160 38,700 29,540
OANIEZEZ2Y T2 2g| 29,160
—=2etelotE2 0 10,080, 0002 10,080
— et T2 I 12,600, 00024 12,600
—AADIERZROH
6.,480,000& 6,480
AOIEZRY 2= 1,400,000 0 1,400,000
= 980,000
Al 420,000
401 AIEHIX R0 1,400,000 0 1,400,000
= 980,000
Al 420,000
01 AlZ2H| 1,400,000 0 1,400,000
OALIEEZE 7= 1,400,000,000& 1,400,000
= 980,000
Al 420,000
Lol LRtel &5 20,935,134 31,558,424 210,623,290
= 10,142,770
== 1,624,172
Al 9,168,192
SRl FHE XL 2EXE 5,400 7,200 1,800
307 212+01& 5,400 7,200 21,800
10 Al2ISTIAIEEE 22X 5,400 7,200 21,800
OLFATIAME SHX2
150,000 <37} A x 128 5,400
)i&l%ﬂal 2L AMBEE N HH(=AR2IFEXS 19,160,519 27,300,706 £8,140, 187
= 9,586,475
= 1,437,971
Al 8,136,073
307 elztol & 19,160,519 27,300,706 8,140,187
= 9,586,475
[ 1,437,971




A LIS
B o= Q)
ol =0 el EE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 8,136,073
11 AMEISXAEEXS 19,160,519 27,300,706 A8,140,187
OLolunizl U MSIEE Xg
19, 160,519,000 19,160,519
= 9,586,475
= 1,437,971
Al 8,136,073
LColgiRtel 302 MEels QIAH|(=2H]) 1,112,590 1,416,882 A304,292
= 556,295
= 83,445
Al 472,850
307 el2to| & 1,112,590 1,416,882 A304,292
= 556,295
= 83,445
Al 472,850
10 Al SXAAEEHE 22X 1,112,590 1,416,882 A304,292
Oastd| Merolet o]
1,112,590,000& 1,112,590
= 556,295
== 83,445
Al 472,850
AlLIOI 2829 602,753 534,636 68,117
= 78,680
Al 524,073
307 @I2t01 & 602,753 534,636 68,117
s 78,680
Al 524,073
10 Al SXAEEE 22X 602,753 534,636 68,117
ORHAMLINZY 22 528,780,000& 528,780
[ 78,680
Al 450,100
ORHAILINZ2" 23 (AlBIFIH)
73,973,000& 73,973
a2 LUK 23,000 24,000 21,000
=S 9,000
Al 14,000
307 21201 & 23,000 24,000 1,000
< 9,000
Al 14,000
10 AlRIS XA EEE 22X 23,000 24,000 A1,000
O=g| & 234l X
23,000,000 23,000
= 9,000
Al 14,000
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A LIS

B o= Q)

ol =0 el EE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
GSAILIOI S& #ol8 XI& 30,152 29,580 572

= 15,076
Al 15,076
307 el2to| & 30,152 29,580 572
= 15,076
Al 16,076
1 AMISXAIEEXS 30,152 29,580 572
OAILIOIBIOIE =g Xig
30, 152,000& 30,152
== 15,076
Al 15,076
ColgRtel R ARIES KIEAIY 2EXE 720 960 2240
201 er23 | 240 480 A240
01 At2teltl 240 480 A240
OxolgXel Y ZLE 22 S20
Al 20,0008 x 1 x 122 240
202 048l 480 480
01 2L A b 480 480
OzolgRel gg BLX SHOM)
40,0003 ~1 =122 480
HAS LoES 4,466,514 4,456,070 10,444
& 527,526
Al 3,938,988
Nas LoD 2328 : X 327,600 327,600 0
= 98,280
Al 229,320
301 EtE N = 327,600 327,600 0
= 98,280
Al 229,320
02 A EEHS(FANE, XLETHE) 327,600 327,600 0
ONAS woIIP AYBHE
327,600,000 327,600
< 98,280
Al 229,320
ColagHE 2 144,908 144,638 270
= 45,012
Al 99,8%
301 EtE N = 5,400 5,400 0
= 1,620
Al 3,780
02 A2 H -GS (FHAAS, NSWE) 5,400 5,400 0
OLQIATHHIEl BAR S4224Y
150,000 «3 = 1204 2 5,400
== 1,620




A LIS
B Lol=| o)
Rl MAS 2SS (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,780
307 21201 & 139,508 139,238 270
== 43,392
Al 96,116
e NEEEEETEES 139,508 139,233 270
OLQIMESME 2EHl L oI21H| X
139,508,000 139,508
= 43,392
Al 96,116
dAEReaa N 1,525,402 1,526,532 A1,130
= 145,200
Al 1,380,202
307 @I2t01 & 1,525,402 1,526,532 21,130
== 145,200
Al 1,380,202
1 ARBI= XA E X 1,525,402 1,526,532 A1,130
OBzAY 2234 1
1,452,000,000& 1,452,000
= 145,200
Al 1,306,800
OZzAY 2234 NA(AHIZN)
62,602,000 62,602
O=2sSAtz=X2 F2Alg 24| 10,800
—&JIe= 300,000 * 122 3,600
— ot R3 200,000 122 2,400
—EAIARS 400,002+ 128 4,800
FZAEF AL I2H] 587,010 567,000 20,010
== 58,206
Al 528,804
307 212+01& 587,010 567,000 20,010
[ 58,206
Al 528,804
11 AMEISXIAEEES 587,010 567,000 20,010
OF2AY FAR 22|
573,690,000& 573,690
= 58,206
Al 515,484
OZ2A FAMY QIAHI(AIHIZIh)
13,320,000& 13,320
MASTHIHC CIAIAHHE 1,628,100 1,617,300 10,800
< 162,810
Al 1,465,290
307 glztol & 1,628,100 1,617,300 10,800
= 162,810




A LIS
B Lol=| o)
&2l MAS eSS (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,465,290
11 AMEISXAEEXS 1,628,100 1,617,300 10,800
ONMAS THIH=QL AAF HHE XIE
4,500 *1,206F 25 122 1,628,100
== 162,810
Al 1,465,290
MG AA 12 253,4% 246,000 7,494
= 18,018
Al 235,476
307 elzto| & 253,4% 246,000 7,494
= 18,018
Al 235,476
1 AMISXAIEEXS 253,4% 246,000 7,494
OFRAIY FUA 0121
177,534,000 177,534
== 18,018
Al 159,516
OZ2Alg FAL IAHI(AIHIZI})
75,960,000 75,960
oMol K& Jgr &4 63,889 165,107 /101,218
QIMOIZHA2NH 28 20,210 20,053 157
201 eer23y| 19,490 14,356 5,134
01 AtR2t2|HI 7,454 1,440 6.014
Odgt==H| 614,000 614
O=&HIXNZ &g 29 6.840
—=gJl Xz 240,000 * 122 2,880
- S 7Y 3,000,000& 3,000
—29E3 960,000 960
02 S3=gHl 12,036 12,916 A880
OSEFRUHE MER 33,0002~ 122 3%
OClEdl AlZ2 60,0002 «12& 720
O8&88= 810,000& 122 9,720
OAldE sAl2tclb] 1,200,000 1,200
202 04| 720 720
01 2L A 720 720
OlOI2HXAME 28 ST &0
0,000& 28123 720
QIHOI2 A RIE AL 43,679 145,054 101,375
201 el 10,280 4,600 5,680
01 At22t2lt] 10,280 4,600 5,680
OusZz Iy g2 2,400
—ItME UOoIeHAIESE
1,600,000 1,600
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